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QUESTION 1

A hash library would most accurately be described as:

A. Both a and b.

B. A master table of file headers and extensions.

C. A file containing hash values from one or more selected hash sets.
D. A list of the all the MD5 hash values used to verify the evidence files.

Correct Answer: C

QUESTION 2

The end of a logical file to the end of the cluster that the file ends in is called:
A. Unallocated space

B. Allocated space

C. Slack

D. Available space

Correct Answer: C

QUESTION 3

4 bits allows what number of possibilities?
B.2

C. 4

D.8

Correct Answer: A

QUESTION 4

EnCase marks a file as overwritten when has been allocated to another file.
A. any part of the file

B. the directory entry for the file

C. the starting cluster of the file
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D. all of the file

Correct Answer: C

QUESTION 5

The following GREP expression was typed in exactly as shown. Choose the answer(s) that would result. Jan 1 st ,
2?0?00

A.Jan 1 st, 1900
B. Jan 1 st, 2001
C.Jan 1 st, 2000
D.Jan 1 st, 2100

Correct Answer: C
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